
PACK P/M

1 Back Rail (790x18x76mm) D374-66 R72894 Wood 1 K M

2 Left Side Panel (411x25x963mm) D374-66 R72895 Wood 1 K M

3 Top Panel (789x411x20mm) D374-66 R72896 Wood 1 K M

4 Left Door (370x19x822mm) D374-66 R72897 Wood 1 K M

5 Center Panel (789x366x20mm) D374-66 R72898 Wood 1 K M

6 Shelf (323x356x22mm) D374-66 R72899 Wood 2 K M

7 Leg (50x50x103mm) D374-66 R72900 Wood 4 F M

8 Bottom Divider (w/Dowels)(360x370x20mm) D374-66 R72901 Wood 1 K M

9 Bottom Panel (850x415x52mm) D374-66 R72902 Wood 1 K P

10 Right Door (370x19x822mm) D374-66 R72903 Wood 1 K P

11 Back Panel (795x875x3mm) D374-66 R72904 Wood 1 K P

12 Top Divider (w/Dowels)(359x477x20mm) D374-66 R72905 Wood 1 K P

13 Right Side Panel (411x25x963mm) D374-66 R72906 Wood 1 K P

14 Hardware Pack D374-66 R72907

1/4inx38mm Allen Bolt (12)

1/4in Lock Washer (12)

1/4in Flat Washer (12)

5/32inx22mm Black Bolt (4)

8x15mm Silver Screw (8)

7x15mm Black Screw (2)

7x15mm Gold Screw (2)

8x38mm Gold Screw (2)

4mm Allen Wrench (1)

1 G P

15 D-Nut (1/4in x 15mm) D374-66 R32398 Metal 12 G P

16 T-Nut (5/16in x 12mm) D374-66 R25132 Metal 4 G P

17 Tipping Restraint Pack D374-66 R15074

Mounting Bracket (2)

4mm x 5/8in Screw (1)

4mm x 2in Screw (1)

Plastic Tie (1)

1 G P

18 Hinge (M+F)(w/Screws) D374-66 R69567 Metal 4 G P

19 Shelf Support (w/Sleeve)(Black) D374-66 R72908 Metal+Plastic 8 G P

20 Door Catch (M+F)(w/Screws) D374-66 R60550 Metal+Plastic 2 G P

21 Leveler D374-66 R32498 Plastic 2 G P

22 Handle (w/Bolts) D374-66 R72909 Metal 2 G P

23 Dowel (8x30mm) D374-66 R36471 Wood 1 G M

24 Dowel (8x40mm) D374-66 R72910 Wood 2 G M

25 Stretcher (w/Screws)(466x72x23mm) D374-66 R72911 Metal 1 G P

26 Glass Rack (w/Screws)(300x253x29mm) D374-66 R72912 Metal 1 G P

MATERIAL QTY.PART# DESCRIPTION MRP#USED ON:

REPLACEMENT PART DESCRIPTION FORM

FACTORY USE ONLY!!

MODEL #: D374-66

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. April 2022 Page 1 Of 2



SIGNATURE DESIGN BY ASHLEY® Page 2 Of 2April 2022All Rights Reserved.

REPLACEMENT PART DESCRIPTION FORM

MODEL #: D374-66

6

20

109

19

3

5

4

1

8

18

14

2

22

25

21

26

7

6

13

12

11

15

16 17

23 24

8

12


